
  www.jirous.com

1.

2.

3.

4.

 

    Plug in a cabel and 
close the hole by cable cap

4x Screws M6 x 45

6x Screws M3.9 x 9.5

JH-LHG

4x stand-offs   2x Screws M3.9 x 9.5
for joining ends of collar

6x Screws M3.9 x 9.5

           4x Gummy O-Ring
for fixing screws during assembling 
      (not necessary to use)


